| X XYRF—P / F=TIY4L X 50%x50, 70X70

System
Manual X,XY Linear Stages / Table Size 50x50, 70x70

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

GXMOS5S-S1 GXMO7S-S1

GYMOS5S-S1 GYMO7S-S1

[ElEn

Rotation

@ GXMO05S-s1 @ GYMO05S-S1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

o
X XY M|
XeXY

50 (20) 50

40 40
Clamp®8 8-M3 Depth 4mm 30

(9.3)
(9.3)

8-M3 Depth 4mm
®4AH7 Depth 4mm

0
50

30
40
50

(71.5)

20)

P4H7 Depth 4mm

[ElEA

Rotation Micrometer Head Micrometer Head

24 R)L 4-for M3 screws
(T=#) Shaft Length 2.5mm i
Swivel 4-for M3 screws
(Tilt) [ 140

Shaft Length 2.5mm
734
P2
Ze—)
XY6

Bz
AF=
Vacuum
Stage

W @ 6XMoT7s-s1 @ GYMO7s-s1
Electron—
ics

tT5—-

k-5 gg 20) 70
Motor .60 |
Controller 50

[N PAY
Ry IR l
Driver ®4H7 Depth 5mm
Box -
77U 8M4 Depth 4mm_
J—vav
Applica-
tion
ET—9—
RSN\
Motor
Driver

Clamp®g 18 18

(9.3)

8-M4 Depth 4mm

o
o
(9.3)

50
60
0

== Micrometer Head i

T—=2 Micrometer Head
Motor g | 0
Cable o

153 4-for M4 screws [J60 @"

i Shaft Length 2.5mm !
Appendix gt 160 4-for M4 screws

Shaft Length 2.5mm

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

D-012 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I S ——————
SUS/ Yy 97=9 /3404 =4%41 AL Zam

SUS Body / Gothic-Arc / Side-Mount Micrometer

EXHA
Industrial
e
M GXMO5S-S1 GYMO5S-S1 GXMO7S-S1 GYMO7S-S1
odel Number -
BB o
i S BLEIR GXMO5S-S1-R GYMO5S-S1-RRR GXMO7S-S1-R GYMO7S-S1-RRR Expert-
irror Model Number mental
F—7)E
Table Size 50mmXx50mm 70mmX70mm TR
EV 3 vo7—2 AT—
Guide Mechanism Gothic Arc Manual
BEGE Stage
Motion Range +6.5mm
HEE
Straightness =1um/13mm
B/NGFAHEL) 10um/B%%
Minimum Readout 10pm/div
E—X2MAIE
Moment Load Stiffness 0.2 arcsec/N-cm 0.41 arcsec/N-cm 0.05 arcsec/N-cm 0.1 arcsec/N-cm
KERHE B%
Load Capacity (Horizontal) 78.4N (8kef) 117.6N (12ksf) Rotation
Mﬁﬁ_ SUS440C
aterial 24~
s HNESLIBEL (I=#)
Finish Nothing Swivel
A= (Tilt)
Weight 0.31kg 0.62kg 0.57kg 1.14kg
BEXE _ = _ =
Rerfaen iy =20um/13mm =20um/13mm
ERBI A RATOX—ZAYR (13mm)
Actuator Micrometer (13mm) >>((>>((YY
1 —3 41 I}
Clean 7 AL GXMO5S-51-C GYMO5S-51-C GXMO75-51-C GYMO75-81-C
ean Room Lubricant Model Number
BFEV. BEROMEBFICDONTIED-004X—2 28R L TTFEL, sp XAT—VBHOE—X2 MAMEO—-LBIEERY ET. z
Refer to pageD-004 for Information on Standard and Mirror Symmetry : Moment Stiffness of single X stage is measured in Roll Direction. z
Configuration.
. . . [O%5
HtiE X Z{1#k Vertical X linear stage customizing it
WBZRAT7 27y NeAWSZET. XAT—YZAT—VELTHIAT R ZENTRETY ., /20 BTRBLEDAEDICAT—DZZERICTIVEDSHY £ GRETH
BELET), ZEFEADBGEIC DN TIED-004X— DEBFREHE TIBETE., FESA TOMBEZAT—IICDVWVTIRE-016RX—YZZBE T XL,
X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page 24N
D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information. (I=%)
72 FY ZEHOBRERRIC C HHEET, BMICONTIZC.003 o SEROIBLICEYNIORELKY ET. i
NR=U%BRULTTEV. ¥ 7OX—2DHRELTEVET (KERRIET Y FHELKREEBETHERVADETEN,
=T 1) AHEH) . We appreciate the product customizing. Contact us for further information. 754
Clean room lubricant model has “C” at the end of model number. Page C-003 for T JIZDNTIEO-001RX=J BB LTTIXO, AYK
further information. Only Micrometer part can change the clean room lubricant Refer to page 0-001 for information on accessory. AF=Y
(Body part is already used the clean room lubricant). XY6
BZEJYRUHIGLTEY EEA.
Vacuum lubricant exchange is not available.
tT-5—-
JvhO-3
Motor
Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
1153
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-013



